
KN-298/1000 (  1  ) [P.T.O.]

Note : Attempt  all the five questions. All questions carry equal

marks. Log table provide on demand.

lHkh ik¡p iz'uksa ds mÙkj nhft,A lHkh iz'uksa ds vad leku gSaA

y?kqxq.kd lkj.kha ekaxus ij nh tk,xhA

UNIT-I / bdkbZ&I

1. The cost of three pens, two pencils and five note book is

Rs. 480. The cost of five pens, five pencils and two note

book is Rs. 405. The cost of two pens, five pencils and

three note book is Rs. 465. Find the price of each pen,

pencil and note book. [15]
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rhu isu] nks isfUly rFkk ik¡p dkWfi;ksa dk ewY; 480 #i;s gSA

ik¡p isu] ik¡p isfUly rFkk nks dkWfi;ksa dk ewY; 405 #i;s gSA nks

isu] ik¡p isfUly rFkk rhu dkWfi;ksa dk ewY; 465 #i;s gSA izR;sd

n'kk esa isu] isfUly rFkk dkWih dk ewY; Kkr dhft,A

OR / vFkok

Explain how the linear programming problem is solved

by graph method with a suitable numerical example ?

,d ljy la[;kRed mnkgj.k dh lgk;rk ls crkb;s fd ,d

js[kh; izØeu leL;k dks xzkQ fof/k ls dSls gy fd;k tk ldrk

gS\

UNIT-II / bdkbZ&II

2. Find the determinant by Laplace's and Sarrus's method:

[15]

13 16 19

14 17 20

15 18 21

ykIykl ,oa ljl fof/k }kjk lkjf.kd dk eku Kkr dhft, %

13 16 19

14 17 20

15 18 21



KN-298/1000 (  3  )

OR / vFkok

If  A = 
3 2

4 2


  and I = 

1 0

0 1

Find the value of K, where A2 = KA - 2I

;fn A = 
3 2

4 2


  vkSj I = 

1 0

0 1  gks rks  K dk eku Kkr

dhft, tgk¡ A2 = KA - 2I

UNIT-III / bdkbZ&III

3. (a) What is sinking fund ? Describe the types of

sinking fund. [7.5]

'kks/ku dks"k D;k gS \ 'kks/ku dks"k ds izdkjksa dh O;k[;k

dhft,A

(b) Raj borrowed Rs. 5,000 for 10 years at compound

interest and the rate of interest is 4% p.a. for the

first three years, 5% p.a. for the next 4 years and

5% p.a. for the remaining years. Find the

compound interest for 10 years. [7.5]

jkt us 10 o"kZ ds fy;s 5,000 #- pØo`f) C;kt ij

mèkkj fy;sA C;kt dh nj igys rhu o"kZ ds fy;s  4%

okf"kZd] vxys pkj o"kZ ds fy;s 5% okf"kZd rFkk 'ks"k

vof/k ds fy;s 5% okf"kZd FkhA 10 o"kksZa dk pØo`f)

C;kt Kkr dhft,A

[P.T.O.]
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OR / vFkok

(a) Mr. Amit took a loan worth Rs. 2,00,000 from a

bank to be amortized over 8 years at 9% per

annum compounded monthly. How much will

equal monthly instalment be ? [15]

fe- vfer us cSad ls 2,00,000 #- dk _.k fy;kA

ftldk ifj'kks/ku 9% izfro"kZ dh nj ls 8 o"kZ esa ekfld

fd'rksa }kjk fd;k tkuk gS] tcfd C;kt dk la'kks/ku

izfrekg fd;k tkrk gSA izR;sd leku ekfld fd'r

fdruh gksxh \

UNIT-IV / bdkbZ&IV

4. (a) In a  factory 60% of the workers are above 30

years and of these 75% are males and the rest

are females. If there are 1350 male workers above

30 years, find the total number of workers in the

factory. [7.5]

,d dkj[kkus esa 60% Jfed 30 o"kZ ls vf/kd ds gSa

vkSj blesa 75% iq#"k rFkk 'ks"k efgyk,¡ gSaA ;fn 30 o"kZ

ls vf/kd ds 1350 iq#"k Jfed dk;Zjr gksa rks dkj[kkus

ds dqy Jfedksa dh la[;k crkb;sA

(b) What is combined average ? Explain with

example. [7.5]
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lkewfgd vkSlr D;k gS \ mnkgj.k lfgr O;k[;k

dhft,A

OR / vFkok

Two equal glasses are respectively 1/10 and 1/12 full of

milk, they are then filled up with water and the contents

are mixed in a jug. Find the ratio of milk and water in the

jug. [15]

nks cjkcj ds fxykl nw/k ls Øe'k% 1/10 ,oa 1/12 Hkjs gSaA vc

muesa ikuh Mkydj mUgsa iwjk Hkj fn;k tkrk gSA blds ckn] nksuksa

fxyklksa ds feJ.kksa dks ,d tx esa feyk fn;k tkrk gSA tx eas

nw/k vkSj ikuh dk vuqikr Kkr dhft,A

UNIT-V / bdkbZ&V

5. (a) Show the various formulae of working out

percentage of profit and loss on selling price and

cost price. [7.5]

foØ; ewY; vkSj ykxr ewY; ij ykHk&gkfu dk izfr'kr

Kkr djus ds fofHkUu lw= crkb;sA

(b) On the sales of Rs. 30,000, the salesman earned

a commission of Rs. 2,600. His commission was

10% on the cash sales and 5% on the credit sales.

How much was his cash sales. [7.5]

30,000 #- dh fcØh ij foØsrk us 2,600 #- deh'ku

[P.T.O.]
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vftZr fd;kA uxn fcØh ij mldk deh'ku 10%

m/kkj fcØh ij 5% FkkA mldh udn fcØh fdrus #i;s

dh Fkh \

OR / vFkok

Solve the following transportation problem by least cost

method : [15]

C1 C2 C3 C4 Available

O1 13 11 15 40 2

O2 17 14 12 13 6

O3 18 18 15 12 7

Need 3 3 4 5 15

Origin
To Customer

fuEu ifjogu leL;k dks U;wure ykxr fof/k ls gy dhft, %

C1 C2 C3 C4 miyC/k
O1 13 11 15 40 2

O2 17 14 12 13 6

O3 18 18 15 12 7

vko';drk 3 3 4 5 15

lzksr
xzkgd dks

----x----


